) TERYCERE
AT =
AT ULPHEHT LVDAERFF

RO %2 EAL L TLHEER S EFICTE L VVEOEEZ KD 7 S\,
@

v
P

4cm

2cm
3cm

6cm
2cm

lcm

4cm

2cm

3cm

BIREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © BHDYRUIL



) TEERE2EER
= &
ATUVPOHET VDR

RO %2 EAL L TLHEER S EFICTE L VVEOEEZ KD 7 S\,
@

Y @ 18 & cm®

< Y/ 1
1 @

4cm §><7z><32><2=67:
@

127 +6n =18 cm’®
2cm @

3cm

@ Y @ 36 = cm®
> 4 éan62><2=24n NG
6cm

2cm Ak éXnX62X1=12n @)

~1< @

lem <— 24n+127=367ncm’

.

® Y @ 30 & cm®
)
4> 1 ,
“ X T x3x4=12x - @)
dem T X3*x2=18x @)
’ i @ 127 +187 =307 cm’
- =
g/
3cm

BIREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © BHDYRUIL



